D 2b




@ 3x O] A4 3 ol

6x2, 3x, —1 °o|th

O _
—

3}

0]

@ 3x 9 %= 1 ]},




_g

S, a+b+c o F2?

o2 @3 ® 4 @ 5

G4 3x% — x4 2 o st A5 g, x O] AF

=
= b, %

a=2b=-1,c=2 °|th
a+b+c=3




1 2
® azazo+ :%
@ x+y 3=x;y

4
® 4+x-y=
X=y

1
ta+--=+b=1
D@a=xa 7

0.1
@0la+h= T"

®x+y+3:x+§

4
©4+x—y:——y
X




FE7F10% Q1 AaE ag, =70 % 1 &

e ] 3o o

FE 150g 2

a+3b a-+ 15b
vy Ot o
a a
@ 2 ® 5

3a + 15b
10 °

i) 5E7110% % 23 E ag & 259 &
10X a 10 1
00~ 100~ 10°(8

i) =7Fb% % £23E 150g 2] &9 &
bx150 150b 150, 3

00~ 100 ~ 100”7~ 2°(8
webAl 1), i) 9 A7l ¥ Gt

L, 8, at1sb g

072”7 10

4
a




6.

7120l t°C & W, F7] FolA £8]9 £Xx& 4 vm 2l S},
v =331+ 0.6t Q1 TAZ}E . Ao £ 24

71 &2 2 °C 7P

® 5°C ® 10°C ® 12°C @15°C

340m & o

® 20°C

v =340 ©]B2 340 = 331 + 0.6t, 0.6t = 9, 61 =
. t=15(°C)

90




o' thFAlo] 4x - 3 & Hdfjof & AL ERE H/ﬂ WA Y —px + 7
o] E|oict. o] uj, uf2 7 ALt Ats LohA

O x+1 @ 3x4+1 @ x—3

@ 3x-3 ® 7x+1

A8 S A 2 SPH A— (4x—3) = —5x 4 7
A=-5x+7+(4x-3)=-5x+7+4x-3=-x+4
whebA] vR2A] AL AT A+4x-3 = —x+4+4x-3 = 3x+1




o]

|

x

| (=)
o H
< L0
] =
N Il
o Il o
—~ —~ ._.
o0 [=2) —
+ 10
= = +
T =&

—_ =l

=4x-3

—

® (12x-9) x

@ (-4
@ (

(]
|
=
[
< 3
L
e M
—~ -l
8\'/
|T3
= +
=
D




(e}
rlo

ohe F AN ATt 4] e e

§

@O 2-a-4+5a=4a-2

@ (-3) x (-2x) = 6x

® (Bx+6)+3=x+2

@ —(a—4)+5@-2)=4a-6

1 1 1
@5(4x—6) + §(6x+9) =4x- B

® (4x—6)+%(6x+9)=4x

N =




1 3
1
@ 2x+17 @ 2 +1 ® x;r
2x + 17 2x+1
@ 12 ©

~&B

BERE 12 2 5E354
3(2x+3) 4(x-2) _ 3(2x+3)-4(x-2)

12 12




